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QUESTION 1

OpFlex can be used with any tree-based abstract model assuming the tree has what associated with it? 

A. API 

B. port group 

C. URI 

D. PR 

Correct Answer: C 

 

QUESTION 2

Which programming languages can be used to generate the messages the API accepts? 

A. PHP 

B. C# 

C. Java 

D. Ruby 

E. any programming language 

Correct Answer: E 

 

QUESTION 3

Which two components set up a domain vPC between two leaf switches in the Cisco ACI fabric? (Choose two.) 

A. vPC peerlink 

B. vPC peer keepalive 

C. vPC domain 

D. vPC protection policy 

Correct Answer: CD 

 

QUESTION 4

What is the requirement to establish connectivity in the Cisco ACI fabric between two EPGs in separate tenants? 

A. scope tenant contract 



B. scope private contract 

C. scope intertenant contract 

D. scope global contract 

Correct Answer: D 

 

QUESTION 5

What is the name of the program that provides a real-time display of REST API commands that the Cisco APIC
processes to perform GUI interactions in Cisco APIC? 

A. CLI Editor 

B. API Inspector 

C. APIC Console 

D. ACI Inspector 

Correct Answer: B 

 

QUESTION 6

In Cisco ACI, which two statements are true about contexts? (Choose two.) 

A. A tenant can have multiple contexts. 

B. A context defines a Layer 2 address domain; whereas the bridge domain defines the unique Layer 3 MAC address
domain. 

C. A context is equivalent to a virtual routing and forwarding instance in the networking world. 

D. A context can be associated with only one bridge domain. 

Correct Answer: AC 

 

QUESTION 7

What is the maximum number of spine switches supported in a Cisco ACI cluster? 

A. 4 

B. 6 

C. 8 

D. 10 

Correct Answer: B 



 

QUESTION 8

Endpoints assigned to an EPG can be defined in several ways. What is an eligible attribute for this assignment? 

A. VLAN 

B. VXLAN or NVGRE 

C. VMware port group 

D. Layer 4service port 

Correct Answer: A 

 

QUESTION 9

What are two benefits of the Clos architecture? (Choose two.) 

A. improved fabric scalability 

B. complicated network design and implementation 

C. multiple nonblocking ECMP paths from all leafs 

D. limited fabric scalability 

Correct Answer: AC 

 

QUESTION 10

What are two of the three methods in integrating the Cisco ACI with existing network infrastructure? (Choose two.) 

A. as a super cloud overseeing a subcloud 

B. as a data center policy engine 

C. as a network supervisor module 

D. as an additional data center pod 

E. as an atomic network operator 

Correct Answer: BD 

 

QUESTION 11

When designing Cisco ACI spine topology, how many spine switches are required? 

A. 2 



B. 3 

C. 5 

D. 6 

Correct Answer: A 

 

QUESTION 12

Which describes gateway services in the Cisco ACI? 

A. Each EPG has a dedicated anycast gateway. 

B. All anycast gateways are centrally located on the spine. 

C. Each subnet has an anycast gateway configured on the TOR wherever that tenant\\'s bridge domain exists. 

D. All anycast gateways are configured on intrusion-detection devices inside the fabric. 

Correct Answer: C 
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